H & 0l & AHS B Ml A

S XI&L
AY2IIH(sLR2 )
=3t EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2o 43,744,273 39,527,599 4,216,674
= 13,819,866
Jl 287,868
= 5,003,372
Al 24,543,167
HY2H LU (sSXR ) 48,949 49,241 N2
J1I=288l 48,949 49,241 VAVS 4
JI=23Hl 48,949 49,241 N292
201 Ler23 | 9,861 9,861 0
01 At2t2ltl 6,280 6,280 0
Ogit=3ZH| 4,120
—JISARESH 30,000%20H 600
—gRFd TN 20,000+52 100
—224 578 120,000% 122 1,440
—a2 4| 90,000% 122 1,080
—MEAss 15,000«65 * 12 900
oMs=Z2 =4 30,0002 x6&* 123 2,160
02 S3=gHl 3,581 3,581 0
o= ¢35 (391) 2,480+8085* 122 2,381
ORE= ¢ (€8 400+2505* 123 1,200
202 04l 16,808 17,100 N2
01 SLHoIH 16,808 17,100 A2R
OJI2ss =0l 16,808,000 16,808
203 HR=AH] 16,280 16,280
01 D[22 PR FA| 6,400 6,400
(OFAES 6,400,000 6,400
02 IR 5,080 5,080 0
ONHADIZIEE S8t 24 Z8 S
5,080,000 5,080
M EA2HER=AH 4,800 4,800 0
ORKNE2g g4l 400,000« 123 4,800
204 APt AH| 6,000 6.000
01 A I AR -] 6,000 6,000
Oxd 400,000+ 123 4,800
Ont# 100,000% 122 1,200
sEZdHYa! 32,302,865 27,962,943 4,339,922
= 13,585,933
7l 46,930
= 3,847,745
Al 14,822,257
EAnzel & 29 117,039 352,059 A235,020
HIE FHAr2e] 117,039 352,059 A235,020




FA sHXE 0
B =oiAmeiYs)
el Azl 2 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 111,439 108,459 2,980
01 At2teltl 9,736 10,436 AT700
O28 AL otEdl 22 otEA 7Y
42,0002 x58t A% 123 2,520
O2Z A &t&d =Bl 28
40,0002 x58 A% 123 2,400
O2Z A 3t&A § MYDISENSE 7Y
2,600 *5001 122 1,560
Ogzlaiel & fg2 o2 gadus
100,000 *23] 200
OJletsE 78 & HEH 680
—JIEtEE 7Y 10,0003 x35+123] 360
—24S HIEHI 5,000& *42=x 162 320
Od=J| & Bl LUz = 22l 2,376
—SUz(E=21) 22,0003 «3CH+ 122 92
-z o) 11,0003 »12CH* 123 1,584
2 S524g4l 101,703 98,023 3,680
Odote=Er= 580,000& 122 6,960
o&IIea 3,250,000& «12& 39,000
ORI S (221
50,0002 *23] 100
OXSIHA (ZERE) 500,000 <22 1,000
ONSXHBAL =2 (2EXH)
30,0002 *1CH 30
OgFEXE MIXHI
25,0002 «1CH~ 12 300
ORdYsS MEE 44,0003 128 528
OAlZ EHIs Xl 3,780
—2FAL EM 2K B
3,600& *1,500m" *7(% 3,780
OgRE g 21U
1,600 %15, 000km /b 10% 2,400
O&JIZH ZIIEM € =68
1,000,000 *14] 1,000
O28 AL Aot 2e| e S (HSIISE
2, ZREUNA TH)
200,000 122 2,400
O2F AL Ro1ZH|E4 240,000 x 122 2,880
O2@AF HjtE 2| ES
200,000& * 128 2,400
O2E A YA EH 403 +3,280 M 43 525
O2Z AL F2EH 35,000,000& * 14| 35,000
O2Z A A= HHEH S99
1,700,000& *23] 3,400
206 M=Hl 600 600
01 M=8l 600 600




A SRR
M PP WALS}
&2l ARl & 29 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O2EA @IITH S 228 79
150,000 *43| 600
401 A& B2 20HY| 5,000 243,000 A233,000
01 Al&HI 5,000 243,000 A238,000
O2E A A =8 L IHES(AHF, 48], &8D|
S) 5,000,000 * 14| 5,000
sHA=ENY 132,484 119,813 12,671
| 46,930
Al 85,554
SYAEELX 4,000 4,000 0
203 PRF=&H| 4,000 4,000
03 AN FRIHRFAIY| 4,000 4,000
OZLZE sEAME gRFX 1,000,000 1,000
OFRLI0 H2FA 1,000,000 1,000
O=sd3/A L3 ARFA 1,000,000 1,000
OzlstZ=e J2FA 1,000,000 1,000
SEAMLFEX 37,441 36,419 1,022
201 LB-2AY| 21,541 19,579 1,962
01 AtR2elt] 21,541 19,579 1,962
O=8 EXAE &FE oY S8 M
66,000+ 17 *23| 2,244
O=HEAAZAIG &IF OHLY ZHI+ HIE
6,500+6005 3,900
O=g=sE 2 ASMAFHAS MI} H
& 33,0003 *50F+13] 1,650
O=sZAME EE2 N 1,500+5000H 750
O =848It Xtz M2 500,000 500
OgRFE S| 12,497
—SSYRFT S| 4,817,000& 4,817
—=sZARFE S|
8,000+8% x120 7,680
202 04dl 14,400 13,140 1,260
01 =LHOdH] 14,400 13,140 1,260
OsZ YR 2LHKYI
20,0008 x5« 123 9,600
OsHYRFA ZUBI(S2A)
20,0002 x4 H+52U 123 4,800
203 PRF=&IY| 1,500 1,500
03 A FRIHRFAIY| 1,500 1,500
O=sg==dd g2F 1,500,000 1,500
SKOISAEHEALKIA 76,043 79,394 A3,351
| 46,930
Al 29,113
101 2124l 52,046 56,155 24,109




FA sHXE 0
B =oiAmeiYs)
el sYsENY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 36,432
Al 15,614
M ORIMZZ2NSE S 52,046 56,155 A4,109
OSXOIBABIEARER 01218]
52,046,000& x14] 52,046
Il 36,432
Al 15,614
201 fer= 3| 23,997 23,239 758
Il 10,498
Al 13,499
01 AtR2telbl 23,997 23,239 758
OSXI0ISAEHZAL AFS22t2IH]
14,997,000 * 14| 14,997
Il 10,498
Al 4,49
Osgsis OISR UHERE 23E
t 300,000& %3021 9,000
skeds =28 A& 15,000 0 15,000
201 et 3| 15,000 15,000
01 At22t2l] 15,000 15,000
OsX9I2s 298 X
15,000,000 15,000
s219] a2 & ety 6,656,468 6,318,800 337,668
= 9,470
& 2,353,154
Al 4,293,844
s012 Sel=g XA 5,119,261 4,800,000 319,261
= 2,040,000
Al 3,079,261
101 @124H| 19,261 19,261
M IIRINZENSES 19,261 19,261
O50{2IBALY S ARBE 018
19,261,000& 19,261
301 EtE2 NS 5,100,000 4,800,000 300,000
== 2,040,000
Al 3,060,000
14 J|Et24 3 5,100,000 4,800,000 300,000
Os0i2l B4y Xg
600,000&+8,500& 5,100,000
= 2,040,000
Al 3,060,000
Hdsgol =M X 900,000 900,000 0
= 252,000
Al 648,000




2AN: SRt
HE: SRS
ol s29 o 2 gy EER=E)
A - E3 SRl (BIH) - HISAY - BAS A TmET
301 LEBEZ 900,000 900,000 0
& 252,000
Al 648,000
14 JIEtE A3 900,000 900,000 0
OWE=d0l =R XA
200,000& *4,500H 900,000
T 252,000
Al 648,000
HEXEDI2XA 297,000 297,000 0
308 KX SHHMSOIN 297,000 297,000
07 RIXISH 2 E2E2 297,000 297,000
OsHEAE) |2 23 297,000,000 297,000
SHEMIZ OIS XI2AAHY 101,056 101,056 0
& 12,317
Al 88,739
307 CIZ2t0IA 101,056 101,056 0
& 12,317
Al 83,739
B OIXtE& = 101,056 101,056 0
OsYEMIZ Ol XML (=XIL)
41,056,000& 41,056
= 12,317
Al 28,739
OsHEMIS 0IAF NS (SIHEE 1%)
60,000,000& 60,000
Hol s1&s XA 118,620 117,813 807
T 28,577
Al 90,043
307 QIZt0IA 118,620 117,813 807
T 28,577
Al 90,043
02 CIZHEAAMHE R 118,620 117,813 807
SIHE0| K& 8,619,520& 8,620
= 1,077
Al 7,543
O=s4)| Ol 3s=4!
2,200,000%50JH 2~ 110,000
T 27,500
Al 82,500
S0 H25 K& 67,608 64,008 3,600
= 10,141
Al 57,467
301 LEBNZ 67,608 64,008 3,600
== 10,141
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FA sHXE 0
B =oiAmeiYs)
&Rl S0e Aol & &4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 17,500
301 EtE NS 24,500 24,500 0
=S 7,000
Al 17,500
14 0Bt 2as 24,500 24,500 0
Os0EE AMAIE K&
1,000,000%35% *7(% 24,500
< 7,000
Al 17,500
sSYAE W= XA 5,000 5,000 0
= 1,100
Al 3,900
301 EtE NS 5,000 5,000 0
=S 1,100
Al 3,900
04 Zet=2stis 5,000 5,000 0
Osgol T 813 Xe
5,000,000 5,000
< 1,100
Al 3,900
SEES0HA HEAL 13,700 0 13,700
= 8,220
[ 1,644
Al 3,836
402 QI2F X201 & 13,700 0 13,700
= 8,220
== 1,644
Al 3,836
02 QI EASEZ(0IETHR) 13,700 0 13,700
Os&3S O0l=SHE XA
13,700,000% 174 2~ 13,700
= 8,220
=S 1,644
Al 3,836
dsoEsd 1,012,541 791,386 221,155
= 293,035
=S 67,592
Al 651,914
SO SdXI2 134,506 133,351 1,155
307 @I2t01 & 134,506 133,351 1,155
02 LB AANHEE 123,000 123,000 0
Osgelod J1g sl eirsial
50,000,000 *14{ 50,000




FA sHXE 0
B =oiAMeiYs)
el dilsgelEsy (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ogtst gdal sttt AHAHEH
20,000,000& » 14 20,000
Ostils gdat st AAdEH 29
3,000,000 %14 3,000
Oetsd gdst WFAY X
20,000, 00024 14! 20,000
OBtols 243 IRAY X8
10,000,000& » 14 10,000
O=YUH =HALTR A
20,000,000 *14! 20,000
03 M EHE2SHIEX 11,506 10,351 1,185
Ot==sHBHAZFLANAES 23|
1,046,000&«11& 11,506
HsHE N 10,000 10,000 0
= 3,000
Al 7,000
201 fer23| 10,000 10,000 0
= 3,000
Al 7,000
03 A= 10,000 10,000 0
OFHE =2 AsHES &)}
10,000,000 * 14! 10,000
[ 3,000
Al 7,000
HsHE |X X2 ALY 189,000 270,000 A81,000
= 94,500
< 18,900
Al 75,600
201 2= 32,400 61,400 /29,000
= 16,200
=S 3,240
Al 12,960
01 AtR2t2|HI 14,400 47,400 /33,000
OASHE 27 4LHT 29
2,000,000 2,000
= 1,000
= 200
Al 800
OAsTHE "X 22 7,000,000 7,000
= 3,500
= 700
Al 2,800
OFIs7E SUIXIt 29 5,400,000& 5,400
= 2,700
= 540




2A:
KEH
ool

M
(=

0x O O
20919
O oY >
[Q 0% {0
o Jye
1oy

Jo tor

S LRE-L

- SHRABA) - HRAY - BES

ol &rey

MEE
Ofl &k2h

03 A=

OAsHE «&hal ot

18,000,000

Mho

=

2,160
18,000
18,000

9,000

1,800

7,200

14,000

4,000

202 044l

Mho

=

2,000
1,000
200
800

2,000

01 2LHodl
OFsHE g2 =& o

2,000,000&

hoH

=

2,000

2,000
1,000
200
800

2,000

301 P B

hoH

=

35,800
17,900

3,580
14,320

25,800

10,000

11 SEAAHIXIRES

OFsHELSS

BAT A

14 0Bt 2a3

OFIsHE MEits fE

OASHEANAZHSHI X

OsZ0IAl &ot2I] X
—&IHA A

OAsAE SEdstus &

gl K&
2,000,000&

A%+ Adl XI&
1,000,000

SEl K&
7,200,000&

10,000,000

Z=H| 300,000 «7E+6&

300,000& «7 Z+68

hoH

=

hoH

=

mho

=

Mo

3,000

2,000
1,000
200
800

1,000
500
100
400

32,800

7,200
3,600

720
2,880

10,000
5,000
1,000
4,000

15,600

12,600

3,000

22,800

10,000




FA sHXE 0
3 sgIy=I
el BlsEoEsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 6,300
=S 1,260
Al 5,040
— 2 0= 2UHEIE 100,000 %50t 2+6E
100,000& x50t +6E 3,000
= 1,500
s 300
Al 1,200
307 elztol & 93,800 125,800 A32,000
= 46,900
=S 9,380
Al 37,520
02 QIS ER 93,800 125,800 A32,000
OsSZ0IA &0ot2I| 2EAY X
52,800,000 * 11 2 52,800
= 26,400
=S 5,280
Al 21,120
OFAse 2{cHEH 2 X
10,000,000 10,000
= 5,000
s 1,000
Al 4,000
OFAse 28H |4 XN
20,000,000 20,000
= 10,000
== 2,000
Al 8,000
OFIs7E Melts (=EdA XA
10,000,000& 10,000
= 5,000
< 1,000
Al 4,000
Olt=t?l 83tus A& 1,000,000& 1,000
= 500
S 100
Al 400
402 QI+ X201 & 25,000 55,000 230,000
= 12,500
== 2,500
Al 10,000
02 SIINEANSEX(0IETHR) 25,000 55,000 230,000
OFls8guddsdadid
25,000,000 * 104 2~ 25,000
= 12,500




A SRR
M PP WALS}
=t HllsgelEsy EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 2,500
Al 10,000
A =T LAY 25,000 25,000 0
& 6,250
Al 18,750
402 QI2E X201 A 25,000 25,000 0
T 6,250
Al 18,750
02 QI EAEEE(OIMTHE) 25,000 25,000 0
OFE s LMY
25,000,000%1JH 2~ 25,000
= 6,250
Al 18,750
Fd=gel Axsotel X 3,125 3,125 0
& 781
Al 2,344
307 212+01™ 3,125 3,125 0
T 781
Al 2,344
02 QIZHA A AL E X 3,125 3,125 0
OFdE=sgel d41s0tel XA
3,125,000 3,125
= 781
Al 2,344
Y g0 =3 XA 171,910 171,910 0
= 118,535
= 14,661
Al 38,714
201 Ler23| 5,660 5,660 0
= 2,830
Al 2,830
01 AtR2telt] 5,660 5,660 0
OFdE=sgol 42 =& 5,660,000 5,660
= 2,830
Al 2,830
202 0441 2,000 2,000 0
= 1,000
Al 1,000
01 =2LHO4 ] 2,000 2,000 0
OFE=e0l 42 27 1Y)
2,000,000 2,000
= 1,000
Al 1,000
301 LPENSZ 1,350 1,350 0
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FA sHXE 0
3 gFy=Iqt
CHol WS RSEH IR (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEXN sEHIOSE 22 437,715 250,422 187,293
101 @124H| 162,596 24,425 138,171
M ORNZZE2NSE S 162,596 24,425 138,171
MEN sEHOISE =D A2
18,623,220 18,624
OY2M =ZH0EY H=URY
8,451,470 8,452
OHNZNsZH0tsd LEBEE 22
42 135,519,190 135,520
201 Ler23| 153,880 168,880 A5,000
01 At2teltl 79,000 84,000 /5,000
ONEN sEH0SE 7A2el 228 +
g s 9,000,000 9,000
O==018 23&c =4 70,000,000 70,000
2 S52g4l 74,880 74,880 0
Oss018 333 (&), 4ot 23)
20,000,000 20,000
OREXLE B3 (], 4ot 23)
2,000,000+ 12 24,000
O=Al2e| 348 2,000,000%52] 10,000
OXJIIHEUHAHES
120,000+ 122 x20H 2 2,880
OQ4HBIAL SIEE
250,000# 123 200 2 6,000
ORoFHIES 250,000 x 122 3,000
OHIit=3 &9 &9 3,000,000 #32] 9,000
206 M=Hl 4,000 800 3,200
01 MHZH| 4,000 800 3,200
OAlEE RAl&e 225 7Y
1,000,000 *43] 4,000
401 A& HIX R0 117,239 16,317 100,922
01 AlZH| 116,400 16,200 100,200
OANdE RAES & 22 100,000,000 100,000
O=HEd 824 A2 & 2+
1,000,000%32] 3,000
Oxgd== FAl2c 5,000,000 5,000
O&L FAl2tel 1403%20,000m *33 8,400
03 AIZSTHYI 839 17 722
OAlIZ20HbI 116,400,000%0.72% 839
sSIASMHE X 12,969,370 8,766,000 4,203,370
= 11,594,370
= 86,000
Al 1,289,000
28 sXES 10,913,000 7,761,000 3,152,000
= 10,913,000




FA sHXE 0
3 sgIy=Ist
el SIASHEXR (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 10,913,000 7,761,000 3,152,000
= 10,913,000
14 0Bt 2as 10,913,000 7,761,000 3,152,000
OJl=EBRZH X
10,913,000,000& 10,913,000
= 10,913,000
JI2E SYM=EM 58N 54,370 60,000 5,630
= 54,370
101 @12A4H| 20,973 20,544 429
= 20,973
VEESEENEEES 20,973 20,544 429
OJl=ETANSH Ha2FH 0l2y)
20,973,000 20,973
= 20,973
201 2= 29,077 35,256 26,179
= 29,077
01 AtR2t2|HI 29,077 35,256 26,179
OJl=ERRZH AeRY
29,077,000 29,077
= 29,077
202 048l 4,320 4,200 120
= 4,320
01 SLHoIH 4,320 4,200 120
Ol TUREH ol
20,0003 x2Z *12E <03 4,320
= 4,320
=EE MES 9,000 7,500 1,500
= 9,000
301 Eet2 NS 9,000 7,500 1,500
= 9,000
14 DBt 2 a=S 9,000 7,500 1,500
O=gs8a=M N 500,0002 *18ha 9,000
= 9,000
S SsAtY 963,000 937,500 25,500
= 3,600
Al 959,400
206 M=l 36,000 31,500 4,500
= 3,600
Al 32,400
01 M=4l 36,000 31,500 4,500
Ogs 2tdFdl XN&E 45,0003 +800& 36,000
== 3,600
Al 32,400




FA sHXE 0
B =oiAmeiYs)
el SIASHEXR (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 844,500 903,000 /58,500
14 IIEt2 83 844,500 903,000 /58,500
OXEE I (1108 L)
320,000,000 320,000
Ol &X2 X2 (2503 &KL
500,000,000 500,000
Ol |28 &4& X3 (9,200%)
24,500,000 24,500
307 elzto| & 82,500 82,500
02 2B HAIHE & 82,500 82,500
OBl 412 228 SDA N
3,000% %55, 0007H*50f% 82,500
g JFotE X2 1,030,000 0 1,030,000
= 618,000
= 82,400
Al 329,600
301 EtE N = 1,030,000 0 1,030,000
= 618,000
= 82,400
Al 329,600
14 IIEt2d3 1,030,000 0 1,030,000
Otlz Jtzerd X& 1,030,000,000& 1,030,000
= 618,000
[ 82,400
Al 329,600
AEAS daD|E 25 1,334,488 1,455,115 A120,627
= 40,000
[ 362,513
Al 941,975
SAIIAS At 437,350 804,068 A366,718
= 2,000
s 118,700
Al 316,650
201 =3 1,600 800 800
01 At22t2l] 1,600 800 800
OSIIHES @ DAS KU 2ET
g iz 800,000 *2CH* 1 1,600
301 EtE NS 9,300 2,700 6,600
= 2,250
Al 7,050
11 #AIAMHIXIZ S 1,800 2,700 A900
OsJHEEl & DASKRYXS ASHEA
A dI 24t 20,0002 0 1,800
14 0Bt 2a s 7,500 0 7,500




FA sHXE 0
B =oiAmeiYs
Chol: AlRtRE MAD|EH B (Shol: % 2)
SA - B BRA(SH) - HRA - of v e HIDE2
Os&gs #Hookt N
15,0002 *1,0007H*50% 7,500
= 2,250
Al 5,250
402 2I2F X201 & 426,450 800,568 A374,118
= 2,000
= 116,450
Al 308,000
02 QI X2 AL E R (01X THE) 426,450 800,568 A374,118
OtsHAgsIH FUXE
2,500, 0002 =207 CH*50% 258,750
s 77,625
Al 181,125
Ools4a e 2l X2
4240002 x200CH 84,800
= 21,200
Al 63,600
Os2IH SAHX £
100, 0002 *50CH 5,000
= 2,000
= 900
Al 2,100
Og=sn X 45,0003 x50 *40% 900
s 225
Al 675
O0dgzlated U= AgdEI|I2ER X2
5,500,000 *20CH*70% 77,000
= 16,500
Al 60,500
AlEgRE YA 40,020 34,500 5,520
= 5,378
Al 34,642
201 fer= 3| 8,000 5,000 3,000
01 At 2|l 8,000 5,000 3,000
OsfzEll=+ 284 8,000,000& 8,000
301 2eEN= 32,020 29,500 2,520
& 5,378
Al 26,642
14 IIEt2 83 32,020 29,500 2,520
O=EtH= Ml 2,500,000& *10ha 25,000
= 5,000
Al 20,000
OEcl M=ot datdeis K&
3,000 *1,5000t0t 4,500




FA sHXE 0
B =oiAmeiYs
Rl AER=E dADE 25 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ost==eldle 22(4sh
2,520,000& 2,520
= 378
Al 2,142
sH=M2E X 691,118 411,047 280,071
== 207,335
Al 483,783
301 22N 691,118 411,047 280,071
[ 207,33
Al 483,783
14 JIEt2d=3 691,118 411,047 280,071
O=2%2 Mal2& XI&(1,400ha)
476,000,000& 476,000
= 142,800
Al 333,200
O=gel rMEs X3 (4,7408)
169,218,000 169,218
== 50,765
Al 118,453
O=J1H SEEE XA (3000H)
45,900,000& 45,900
= 13,770
Al 32,130
AEANESZHE ML X2 45,000 129,500 84,500
s 13,500
Al 31,500
402 2I2F X201 & 45,000 129,500 84,500
[ 13,500
Al 31,500
02 QI T2 AL EE (01X THE) 45,000 129,500 /84,500
Ostts Mot 22X (3B)
90,000, 000& *50% 45,000
= 13,500
Al 31,500
L SIIH ROIHIXE XA 76,000 76,000 0
= 38,000
= 7,600
Al 30,400
301 EtE N = 76,000 76,000 0
= 38,000
< 7,600
Al 30,400
14 JIEt2d=3 76,000 76,000 0
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MEE
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24,028

7,840
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4,668
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8,520
6,000
3,000
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ol &rey

76,000

38,000

7,600
30,400
45,000
45,000

45,000

iy

45,000
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Al

fir

7,005,216
18,640
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Al

1,500
17,140
7,840
7,840
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900
1,500
1,600
3,840
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4,800
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Al
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1,500
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FA sHXE 0
B =oiAmeiYs)
el MEdsgsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 20,457
Al 47,733
307 lztol & 113,650 80,150 33,500
= 45,460
== 20,457
Al 47,733
02 LB HANHEE 113,650 80,150 33,500
OSII=ATM X2 (221ha)
113,650,000 113,650
= 45,460
== 20,457
Al 47,733
=H SRH0 SSAY 78,000 69,600 8,400
= 4,000
Al 74,000
307 elzto| & 78,000 69,600 8,400
= 4,000
Al 74,000
02 2B YAIHE A 78,000 69,600 8,400
Okt 220l B3 X (4500)
78,000,000& 78,000
s 4,000
Al 74,000
S s P ML 2,165,000 2,347,000 A182,000
= 431,800
Al 1,733,200
301 LEtE NS 2,150,000 2,338,000 188,000
= 430,000
Al 1,720,000
4Bt 2 a3 2,150,000 2,338,000 188,000
O ST =HEXEL (101004 )
2,150,000,000& 2,150,000
=S 430,000
Al 1,720,000
307 212+01& 15,000 9,000 6,000
& 1,800
Al 13,200
02 2IZHBHAIHE £ 15,000 9,000 6,000
ORJIs & MHHEAl A2 X3
9,000,000& 9,000
Ozl&d =0t HSLMI| X
6,000,000& 6,000
== 1,800
Al 4,200




FA sHXE 0
B =oiAmeiYs)
el MEdsgsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EE=sI ASEH K 2,378,550 2,189,750 188,800
= 439,700
Al 1,938,850
201 er2 3| 39,600 25,500 14,100
= 9,900
Al 29,700
01 AtR2t2|HI 39,600 25,500 14,100
OHBASLE BRSO AKX
220,000 »1804 39,600
== 9,900
Al 29,700
301 EtE NS 2,338,950 2,164,250 174,700
= 429,800
Al 1,909,150
14 IIEt2 83 2,338,950 2,164,250 174,700
O ssE ASX(1,750H)
1,139,950,000& 1,139,950
= 190,000
Al 949,950
ORIls. 259 X% X2H(1,9180)
1,199,000,000& 1,199,000
& 239,800
Al 959,200
tigtdsatE RIIUSEE N 36,000 41,500 25,500
= 10,800
Al 25,200
301 EetE2 NS 36,000 41,500 A5,500
=S 10,800
Al 25,200
14 0Bt 2as 36,000 41,500 25,500
RIS s=2 MHLEE X2 (280ha)
36,000,000 36,000
< 10,800
Al 25,200
detd 20l 25 A 36,000 0 36,000
= 7,200
Al 28,800
301 EtE2 N = 36,000 0 36,000
=S 7,200
Al 28,800
14 0Bt 2as 36,000 0 36,000
Ozed 21X 22 X (300F)
10,0002 «300E 122 36,000
< 7,200




SA: SLXED
T YA,
el MEdsgsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 28,800
ctdsgE= 1,331,300 1,331,300 0
= 1,331,300
PEEEE 1,331,300 1,331,300 0
= 1,331,300
14 JIEt2 8= 1,331,300 1,331,300 0
OnEAsY NEH N2 (1,57200)
1,331,300,000& 1,331,300
= 1,331,300
E2HEH X 309,300 309,300 0
2 204,138
=S 52,581
Al 52,581
307 21201 & 309,300 309,300 0
= 204,138
= 52,581
A 52,581
02 2B YAIHE A 309,300 309,300 0
OE MM XI&A(1,765€)
309,300,000 309,300
= 204,138
= 52,581
Al 52,581
SIIZHISXIJ (HEALY) 3,040,000 3,040,000 0
307 @I2t0| & 3,040,000 3,040,000
02 QB HANSEER 3,040,000 3,040,000
ORIIZHIE N (HeeetH)
1,660,000,000& 1,660,000
OXHHl RIIZHIE X
1,340,000,000& 1,340,000
ORIIZHIR BT N
40,000, 0002 *27H 2= %50f% 40,000
gaE HetFsatE 20l A 136,320 126,720 9,600
= 68,160
= 20,448
Al 47,712
307 212401 16,320 126,720 9,600
= 68,160
= 20,448
Al 47,712
02 2IZHBYAIHE & 136,320 126,720 9,600
Oglate FBRsNE P2I0l N
480, 0002 »355% +80% 136,320
= 68,160




2A:
T ZH -
o e

=aak

jaly

O ol
o 09 1Q
oY oY
O 0% o
Q Jy &

Jo oy
0x tor

RA - BE - SHAEH) - HRA - BAS ofl &t e DS
< 20,448
Al 47,712
SMBAEHYS 2,818,1% 2,876,610 N58,414
= 168,933
Il 240,938
[ 374,762
Al 2,033,563
b MAD|EE =t 1,254,084 1,500,067 A245,983
= 6,012
Jl 167,990
= 207,945
Al 872,137
JERIONED Bt = 47,050 37,340 9,710
= 6,020
Al 41,030
206 =4I 20,000 20,000
01 M=4l 20,000 20,000
OSEe2dd 35 10,000& %2,0005 20,000
301 22N = 10,200 14,400 A4,200
< 1,650
Al 8,550
14 IIEt2 8= 10,200 14,400 A4,200
OJIEMEE It XA (EX)
4,400,000 55 *3(% 6,600
= 1,650
Al 4,950
OIS EE It X2 (XA
4,000,000 *3=+30% 3,600
307 212t01™ 9,850 2,940 6,910
S 2,210
Al 7,580
02 QI EANEE X 9,850 2,940 6,910
Ogte S5 NEA 7,000 »5505 3,850
== 770
Al 3,080
OHAl AlzgE8 M X2
5,000,000 2= +6(0% 6,000
< 1,500
Al 4,500
402 QI”F X201 & 7,000 0 7,000
= 2,100
Al 4,900
02 QIEN 2 AL EZ(0IETHR) 7,000 0 7,000




FA sSXE 0
B AW
Rl FA dae &F EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZ0t HAl MES=8 a3 A
7,000, 0003 x2S *50f% 7,000
= 2,100
Al 4,900
SLAFI|EHEE AR 77,730 70,120 7,610
== 2,070
Al 75,660
201 2= 6,960 6,000 960
01 At22t2lt] 6,960 6,000 960
OBFAHE EB= 45 AN
600,000+ 1CH~1& 600
Ost2Eal dAXAS A=
600,000+ 1CH* 1 600
O RFN S|
8,000+62 120 5,760
202 04| 8,400 9,600 A1,200
01 =LHO LI 8,400 9,600 A1,200
OFMER =0
20,0002 x6H x5« 12 7,200
OFNAL SUAEI(SSY A2
1,200,000 1,200
301 EetE2 NS 27,360 27,360
11 #AIAHIXIE S 2,360 2,360
OsteZ &zl X0
59,000%12|x40H 2,360
14 IIEt2 8= 25,000 25,000 0
Ost2HNEAS KA 100,000 #2505 25,000
307 el2to| & 19,960 19,960 0
= 180
Al 19,780
02 QItEHAEE X 19,960 19,960 0
O=ttsIt =201 X
150, 000%120= *50% 9,000
Oste SZWLH XA
2,500 +8,000kg*50% 10,000
OJIs& Z2sZ MMl XA
1,2002 *1,000kg*80% 960
= 180
Al 780
402 2I2F X201 & 15,050 7,200 7,850
[ 1,890
Al 13,160
02 QI X2 AL EE (01X THE) 15,050 7,200 7,850
Ogte AsSZ2EHX X2
70,0002 *150CH *60% 6,300




FA sSXE 0
B AW
Rl FA dae &F EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,890
Al 4,410
O=ttst &3J1 N3
350, 0002 *50CH*50% 8,750
SNSdDEIRS 12,000 12,000 0
== 1,350
Al 10,650
201 2= 5,000 5,000
03 A2 I 5,000 5,000
OS+EMS AAR Hprg 2
5,000,000& 5,000
307 elztol & 7,000 7,000 0
= 1,350
Al 5,650
02 2IZHBYAIHE A 7,000 7,000 0
OYE MY SATL
10,0002 *1,000kg*70f% 7,000
== 1,350
Al 5,650
Stuesas A2 214,700 1,124,395 909,69
Il 129,020
s 21,270
Al 64,410
301 22N = 214,700 1,124,395 909,695
7l 129,020
= 21,270
Al 64,410
14 JIEt2as 214,700 1,124,395 909,695
O DLRTA N
4753 x1,808E 250! 214,700
Jl 129,020
= 21,270
Al 64,410
SteRgA 2 N2 760,320 0 760,320
== 152,064
Al 608,256
301 22N = 760,320 0 760,320
< 162,064
Al 608,256
14 JIEt2d=3 760,320 0 760,320
Ostu=3A &l A&
4802 +8,800H x180 760,320
= 152,064
Al 608,256




FA sSXE 0
B AW
Rl FA dae &F EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
StYSOHME 90,260 193,000 102,740
Jl 38,970
== 16,387
Al 35,903
301 2eEN= 90,260 193,000 102,740
7l 38,970
=S 16,387
Al 35,903
14 0Bt 2as 90,260 193,000 102,740
OstsOtME A (28
32,0002 385 * 102! *70% 86,240
7l 36,960
= 14,784
Al 34,496
OSSO E A (A2ISY)
32,0002 6 102/ *100f% 1,920
Jl 960
=S 288
Al 672
OSMSOHME AL (W)
42,0002 x5E 102/ *100% 2,100
Il 1,050
== 315
Al 735
SatE0/52e] X 11,424 9,312 2,112
= 5,712
s 1,714
Al 3,998
307 212+01& 11,424 9,312 2,112
= 5,712
= 1,714
Al 3,998
02 QIHEHAIEE X 11,424 9,312 2,112
OFAS0IFM(AERHY]) XA
9,600&+1, 1905 11,424
= 5,712
= 1,714
Al 3,998
SH=sL=ALZTAR 2GS =€ 600 600 0
= 300
Al 300
301 22N = 600 600 0
= 300
Al 300




tA WS 25}
A MAD|EE BHE (19 @)
SN - B CRI(S]) - NISAY - BES A HIm=S2t
14 JIEt2 43 600 600 0
SEIIEINEETLED) s
50,0003 %123 600
= 300
Al 300
= Zgnoiog X 40,000 49,100 29,100
& 8,070
Al 31,930
206 =4l 35,100 44,100 A9,000
= 7,020
Al 28,080
01 =Yl 35,100 44,100 A9,000
OJIIE=EUYl D2 AEHA 2A5HH K&
9,100,000& 9,100
& 1,820
Al 7,280
Ogadatgara X 26,000,000 26,000
& 5,200
Al 20,800
307 212+01 A 4,900 3,500 1,400
& 1,050
Al 3,850
02 QIZHAAAIEER 4,900 3,500 1,400
OFAHXS X &
4,900,000 4,900
& 1,050
Al 3,850
Yo 919,229 1,021,723 A102,494
= 141,821
J| 52,959
= 98,750
Al 625,699
SHAY Xgd 507,409 471,709 35,700
& 42,260
Al 465,149
101 2124 d| 144,000 123,000 21,000
M IIZtMZ22SE 144,000 123,000 21,000
ONHBASAIE & =29
24,000,000 6 144,000
201 B2 AY| 31,969 31,969
01 At 2elt] 15,000 15,000
ONHELSAE & HAxL 29
15,000,000* 10 2~ 15,000
02 324l 16,969 16,969 0




2A:

B AW
&2 JIEEEUY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OS=2LHMRH(KS XA
50,000+2CH 23] 200
OS+=MAHEIMELRE3)
60,000+2CH*22] 240
OS+=YMAH(NHSIZAIZ)
20,000+2CH*12] 40
OS=2MAHFFUH)
1,300%19, 500km+ 10%=*2CH 5,070
OS=MRHEPS S4Z)
4,950+2CH+ 123 119
OAEZHI(SXITH) 100,000%4CH*12] 400
OANEEHI(RFH)
1,500%10 £ *4CH* 15 900
ONBASAE U YA 2
10,000, 000% 17K A 10,000
206 M=l 263,840 261,740 2,100
< 38,240
Al 225,600
01 M= H| 263,840 261,740 2,100
OS0HA EAHE ghl X
13,000%2,0005 26,000
OAdE-gHII2E gHl X3
1,400+1,5005 2,100
O20m7tEHHIE 2 Ml X3
2,800+1,0005= 2,800
OJI=&EE K oHs-H X
30,000+50S %72 10,500
O=EdE30FIE UM N&
5,000,000 5,000
(OFd}=1 gl 10,000,000 10,000
OEFYY yoiors 1g
30,000,000 30,000
Onjlgeal AEARSHH XIE
1,000%13,0005=+23] 26,000
OHXIMAD|SEIISEZ WAl X
3,000,000 3,000
== 750
Al 2,250
ONEASAIE 29 XI&
66,000,000 * 100 2 66,000
= 13,200
Al 52,800
OS0HNHAIE MZ ALY
14,0002 *5005 7,000
== 1,780
Al 5,250
O4 €M ZD|8E 245 X
32,0008 455 1,440
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SN UKD
=4

B AW
Rl JISEE0E EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEREEEEEESN
60,000% 1074 2+12] 600
OztB=N=0S LA M=
5,000%100= 500
OS=SSEM 222 M& 1,500+5000H 750
206 MH=HI 3,740 3,740
01 MHZH| 3,740 3,740
OJt=24 It ¢
2203 17,0005 3,740
301 LEetE N = 25,000 25,000 0
= 4,800
Al 20,200
11 #AIAHIXIE S 1,000 1,000 0
OJI=g9us 404 10,000+100H 1,000
14 JIEt2d = 24,000 24,000 0
OIS S JtEgagsHl(S+2) X
1,000,000=2E « 12 24,000
= 4,800
Al 19,200
AL & JIME 2HAS KA (=) 72,129 94,079 A21,950
= 47,297
= 7,3%
Al 17,476
206 M=l 61,329 61,329 0
= 41,897
< 5,736
Al 13,696
01 MHZHI 61,329 61,329 0
OJtEgs o - FHeE A&
61,329,000 61,329
= 41,897
& 5,736
Al 13,696
307 glztol & 10,800 10,800 0
= 5,400
< 1,620
Al 3,780
02 2B HAHE L 10,800 10,800 0
OHHAI WDEal X3 10,800,000 10,800
= 5,400
s 1,620
Al 3,780
~ER4etd § HE 2 2FH| X (=) 16,000 0 16,000
= 4,800




2A:

B AW
el JIEEguE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 3,360
Al 7,840
301 EtE NS 16,000 0 16,000
= 4,800
== 3,360
Al 7,840
14 JIEt2d = 16,000 0 16,000
OAB2uele Zee MLl R (MSA
e 10,0002 *1,6005 16,000
= 4,800
== 3,360
Al 7,840
THS AKX 112,833 112,833 0
= 53,824
== 17,705
Al 41,304
206 M=l 69,833 69,833 0
= 32,324
= 11,255
Al 26,254
01 M=4l 69,833 69,833 0
OTF MY HAX R (S A=) 18,870,000 18,870
= 13,209
= 1,699
Al 3,962
OF MY HARH (M=) 42,651,000 42,651
= 14,928
= 8,319
Al 19,404
OFHMS AEHA2EHA 8,312,000 8,312
= 4,187
= 1,237
Al 2,888
301 LEetE2 N = 43,000 43,000 0
= 21,500
= 6,450
Al 15,050
14 DBt 2 a=S 43,000 43,000 0
OFNSE HAHSAl=H| 43,000,000 43,000
= 21,500
& 6,450
Al 15,050
SHxA 28 XH(2) 28,000 0 28,000




2A:

B AW
Rl JISEE0E EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 14,000
=S 4,200
Al 9,800
206 M=H| 28,000 0 28,000
= 14,000
= 4,200
Al 9,800
01 2 28,000 0 28,000
OSHZA 2% KB (MSAH)
28,000,000 *1IH 2 28,000
= 14,000
= 4,200
Al 9,800
SO SEAAHI S4lg § XA (R) 11,800 11,910 A110
= 5,900
= 1,180
Al 4,720
301 LEtE N = 11,800 11,910 A110
= 5,900
< 1,180
Al 4,720
14 IIEt2 83 11,800 11,910 A110
OxtEAAFII(PS) S4= X
8,800,000& 8,800
= 4,400
= 880
Al 3,520
OXNERUSAEXI(PS) SAIXBEXR
60,000%50 3,000
= 1,500
= 300
Al 1,200
SSLHe 2E(22]) 58,324 52,280 6,044
Jl 29,162
= 8,749
Al 20,413
402 QI”F X201 & 58,324 52,280 6,044
Jl 29,162
& 8,749
Al 20,413
03 2IZHRAETALHHI 58,324 52,280 6,044
OJt=¢A3seNe 29 (212H])
58,324,000 58,324
Jl 29,162




SN UKD
=4

B AW
Rl JISEE0E EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 8,749
Al 20,413
SSYHE 2L (M=) 47,594 49,688 2,004
Il 23,797
< 7,140
Al 16,657
402 QI2F X201 & 47,594 49,688 2,004
Il 23,797
== 7,140
Al 16,657
03 2IZHAETAIHHI 47,594 49,688 2,004
OlEYARSYHS 22 N (W)
47,594,000 47,594
Il 23,797
== 7,140
Al 16,657
Az 2= 20,000 20,000 0
= 16,000
s 2,000
Al 2,000
301 EtE NS 20,000 20,000 0
= 16,000
= 2,000
Al 2,000
4Bt 2as 20,000 20,000 0
OJIsdgd dx=22ds &
20,000,000 20,000
= 16,000
= 2,000
Al 2,000
Sesd 432,363 354,820 77,543
= 600
Il 19,989
== 85,217
Al 366,557
Zletdsasd 123,790 132,412 A8,622
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